Chm 122






Name:




Homework 4








Due Oct. 30, 2008
25 points
1. What product or products would you expect to obtain from each of the following reactions?  For each reaction give the mechanism (SN1, E1, SN2, E2) by which each product is formed and predict the relative amounts of each product (major vs. minor).
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2. Draw a complete, detailed mechanism accounting for each product of the following reaction.  Circle the major product.  What type of mechanism leads to each product? 
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3. Circle the faster reaction in each pair.
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4.  You are given a sample of A that is optically pure (100%ee).  Assign an absolute configuration to any chiral centers in the molecule.  Eager to get to lunch, you accidentally leave the compound dissolved in 5% aqueous HCl.  Upon returning you discover that the compound is now racemic.  Draw a mechanism that accounts for the loss of stereochemistry.
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5.  Neopentyl iodide is a primary alkyl halide but is unreactive when treated with nucleophiles or bases.  Explain this molecule’s poor reactivity under substitution or elimination conditions.
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